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QUESTION 1

Which are two Cisco recommendations that demonstrates SDA? (Choose two.) 

A. Use the CLI to perform as much of the configuration as possible. 

B. Show the customer how to integrate ISE into DNA Center at the end of the demo. 

C. Focus on business benefits. 

D. Keep the demo at a high level. 

E. Be sure you explain the major technologies such as VXLAN and LISP in depth. 

Correct Answer: CD 

 

QUESTION 2

Which two statements are true regarding Cisco ISE? (Choose two.) 

A. It distributed deployments, failover from primary to secondary Policy Administration Nodes happens automatically. 

B. The number of logs that ISE can retain is determined by your disk space. 

C. ISE supports IPv6 downloadable ACLs. 

D. ISE can detected endpoints whose addresses have been translated via NAT. 

E. ISE supports up to 100 Policy Services Nodes. 

F. In two-nodes standalone ISE deployments, failover must be done manually. 

Correct Answer: AB 

 

QUESTION 3

Which two options are primary functions of Cisco ISE? (Choose two.) 

A. providing VPN access for any type of device 

B. providing information about every device that touches the network 

C. enabling WAN deployment over any type of connection 

D. automatically enabling, disabling, or reducing allocated power to certain devices 

E. enforcing endpoint compliance with network security policies 

F. allocating resources 

Correct Answer: BE 
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QUESTION 4

Which are two Cisco ISE that benefits our customers? (Choose two.) 

A. provides network access control 

B. helps them stop and contain real-time threats 

C. enables them to set traffic priorities across the network 

D. helps them accelerate application deployment and delivery 

Correct Answer: AB 

 

QUESTION 5

What statement is true regarding the current time in Enterprise Networking history? 

A. advent of cloud computing 

B. pace of change 

C. pervasive use of mobile devices 

D. advent of IoT 

Correct Answer: B 
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